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READ THESE INSTRUCTIONS FIRST.

Write candidate name, class and section in the spaces provided above.
Write in dark blue or black pen.

You may use a soft pencil for any diagrams, graphs or rough working.
Do not use staples, paper clips, highlighters, and glue or correction fluid.

Number of pages: 8
Answer all questions. Number of questions: 6
The number of marks is given at the beginning of each question or part question.

QUESTION NUMBER MARK SCHEME
1 12
2 7
3 6
4 4
S 4
6 7
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Question 1 : 12 marks
Work out the following without using a calculjéltor.

Show all the steps of your working and give your answer as a fraction
in its simplest form.

)42 2242 =
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d)2 of 2 kg=
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Question 2 7 marks
a) Find the factors of 54 2 marks

Factors of S4are: |, 2, 3, G, lg) DL o

o
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Question 3 6 marks

Choose from the cards to complete these sentences:

e We can tell a number is prime because it has09 Lf :bﬂ Q Eg C.Eol‘g

e 9is not pr‘iiiief?i)ecause ithas | .2 an A 9 asits factors. 9 is a

number of factors: 1, 5, 25.

24 is not a qudré pgmbér because it has gn_ eVen

4 marks

rrect dot notation for
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Question 5 4 marks
1 G
a) i 0.01
7 ; :
Use the fact above to convert 55 to a recurring decimal.

Show your work!

Do not use a calculator.

e - L

99 94
= Jy O‘(Sl
& e

5
b) Decide whether the fraction = will be equivalent to a recurring

decimal or a terminating decimal. Explain why!

Do not use a calculator.

e v 12
J$  2y3¢3 @/\6‘
The denominator 15 = 2% @{é)

As there is o number other
i @, and 5 In the Pmducﬁ

O]f Pr('m,z,sj (‘Jc (,OIVH be a rQCLLITiﬂ dedm&tl»
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Question 6

Yasma wants to paint a wall. The wall is a rectangle measuring

1
73

m by 5

2
gm.

7 marks
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